
WJEC 2014 Online Exam Review

GCE World Development WD1 1391-01

All Candidates' performance across questions

Question Title N Mean S D Max Mark F F Attempt %
1 1786 16.8 4.5 25 67.1 99.8
2 1785 14.6 4.7 25 58.5 99.8
3 1785 16 4.9 25 64.1 99.8
4 1783 15 5 25 59.9 99.7
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Sticky Note
Usually the question number

Sticky Note
The number of candidates attempting that question


Sticky Note
The mean score is calculated by adding up the individual candidate scores and dividing by the total number of candidates. If all candidates perform well on a particular item, the mean score will be close to the maximum mark. Conversely, if candidates as a whole perform poorly on the item there will be a large difference between the mean score and the maximum mark. A simple comparison of the mean marks will identify those items that contribute significantly to the overall performance of the candidates.
However, because the maximum mark may not be the same for each item, a comparison of the means provides only a partial indication of candidate performance. Equal means does not necessarily imply equal performance. For questions with different maximum marks, the facility factor should be used to compare performance.


Sticky Note
The standard deviation measures the spread of the data about the mean score. The larger the standard deviation is, the more dispersed (or less consistent) the candidate performances are for that item. An increase in the standard deviation points to increased diversity amongst candidates, or to a more discriminating paper, as the marks are more dispersed about the centre. By contrast a decrease in the standard deviation would suggest more homogeneity amongst the candidates, or a less discriminating paper, as candidate marks are more clustered about the centre.


Sticky Note
This is the maximum mark for a particular question


Sticky Note
The facility factor for an item expresses the mean mark as a percentage of the maximum mark (Max. Mark) and is a measure of the accessibility of the item. If the mean mark obtained by candidates is close to the maximum mark, the facility factor will be close to 100 per cent and the item would be considered to be very accessible. If on the other hand the mean mark is low when compared with the maximum score, the facility factor will be small and the item considered less accessible to candidates.


Sticky Note
For each item the table shows the number (N) and percentage of candidates who attempted the question. When comparing items on this measure it is important to consider the order in which the items appear on the paper. If the total time available for a paper is limited, there is the possibility of some candidates running out of time. This may result in those items towards the end of the paper having a deflated figure on this measure. If the time allocated to the paper is not considered to be a significant factor, a low percentage may indicate issues of accessibility. Where candidates have a choice of question the statistics evidence candidate preferences, but will also be influenced by the teaching policy within centres.
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2. Figure 2  Sustainable development word cloud

Source: Adapted from http://www.niehs.nih.gov/research/

(a)	 Suggest how environment, future and needs from Figure 2 relate to sustainable 
development. [5]
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Sticky Note
The rest of the answer fails to address the question as it does not suggest how the words future, needs and environment relate to sustainable development, but rather is side-tracked by the way in which the word cloud has been constructed.  A pity, as it started well but in actual fact did no more than give the definition of sustainable development in outline, so it achieved 3 marks out of the 5 available.

Sticky Note
The candidate has then gone on to give an incomplete outline of the Brundtland definition of sustainable development, so this raises the response to level 2 in the mark scheme.

Sticky Note
This is a fair sentence that makes a point straight away.  It is accurate, showing understanding of sustainable development.





Sticky Note
The candidate has not demonstrated understanding or application of sustainable develop; the question as set has not been addressed.  This answer was given level 1, 2 marks out of 5 as there was no link to sustainable development and this answer only refers to the comparative sizes of the words in the word cloud.

Sticky Note
There is a hint at some understanding here, but it i not explicit and does not address the question.

Sticky Note
Still there is no reference to the concept of sustainable development or what it means.  This could have been written never having studied the term.

Sticky Note
This is not what the question is asking.  This is a reading of how the word cloud has been drawn rather than a demonstration of understanding of the concept of sustainable development.





Sticky Note
Appropriate mention of basic human needs showing sound understanding of sustainable development.  This answer was given top of level 2, 4 out of 5 marks as the points are made well but rather in outline.  Examples would have lifted it to level 3.

Sticky Note
This is an elaboration on the Brundtland definition and is a correct link to the word 'future'.  More precision could have been achieved by explaining what is meant by "a good state".

Sticky Note
Global warming is a clear linking of environment and sustainable development.  The sentence could be more succinct, but this statement lifts the answer into level 2.

Sticky Note
This first sentence is ambiguous; living the way we do may well be unsustainable.
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2. Figure 2  Sustainable development word cloud

Source: Adapted from http://www.niehs.nih.gov/research/

	 (c)	 Explain how the use of natural resources may have social and economic costs.	 [10]
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Sticky Note
This second example is also appropriate and has some specific, accurate detail.  

Sticky Note
Succinct and effective opening sentence as it gets straight to the point.  Oil is a natural resource and the link is made between the use of oil and social costs, although the candidate has not used the term social yet.



Sticky Note
The answer lacks balance and clarity over social and economic costs, but does have some sound detail, particularly on the Colorado, which is used to address the question.  It was give top level 2, 7 out of 10 marks.

Sticky Note
Extended example but the candidate could have made even better use of it by being clearer and more explicit about the social and economic costs, and who suffers those costs, of the use of the water from the Colorado.

Sticky Note
Specific link to the wording of the question here.







Sticky Note
More specific detail.  The candidate has achieved balance between the social and economic costs.

Sticky Note
Good to link the social and economic costs.

Sticky Note
Clearly sign-posting that the answer is addressing the other part of the question.

Sticky Note
Further explanation here, which addresses the question.  Could possibly be strengthened still further by the use of an example to illustrate this point.

Sticky Note
Multi-layered costs identified by differentiating those who are affected.

Sticky Note
Good to reiterate the words used in the question as this keeps the answer on track and relevant.

Sticky Note
Further detail that develops the economic costs of using this natural resource effectively.

Sticky Note
Even more precise and specific detail here that is used to develop the point about economic costs.  Whilst the question does not ask specifically about management, this is nonetheless pertinent.

Sticky Note
A strong opening that gets straight to the point.  Fish stocks are an acceptable natural resource and the candidate has clearly identified an economic cost with some specific detail i.e. North Sea.



Sticky Note
This is an explicit explanation that uses detail and is balanced.  Impressive in the time (around 12 minutes) and it was given top of level 3, 10 out of 10 marks.
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SECTION B

Theme 2: Poverty and Inequality

Answer both questions in this section.

Make full use of examples in support of your answers where possible.

3.	 Figure 3  The world’s poorest countries, 2012

	 (a)	 Use Figure 3 to describe the differences in GDP per capita of the world’s poorest 
countries.	 [5]

	 (b)	 (i)	 Describe two social problems faced by the world’s poorest countries.	 [4]

		  (ii)	 Outline two strategies to reduce poverty.	 [6]

	 (c)	 Discuss the effects of international debt on one named country.	 [10]

	 Total = 25

Source: Adapted from http://www.graphs.net/201206/world-poorest-countris.html

Gross Domestic Product (GDP) per capita per year

0 100 200 300 400 500 600 700 800 900

$899

US$12 400

$768

$860

$849
$771

$467
$456

$348

$735
$615

Democratic Republic
                   of Congo

Liberia

Zimbabwe

Burundi

Eritrea
Central African 

Republic
Niger

Sierra Leone

Malawi

Togo

US

US
US

US
US

US

US
US

US

US

World average







Sticky Note
Hints at effects here, but not clearly explained or linked to the question.

Sticky Note
Drifting away from the question, which asked about the effects of international debt on a country.

Sticky Note
A generalised statement.

Sticky Note
Accurate and specific detail about the earthquake.

Sticky Note
This is specific detail.

Sticky Note
Easier to repay and taken away are rather simplistic interpretations.

Sticky Note
Haiti is an appropriate country to choose to answer this question.



Sticky Note
Needs to have specific detail and link it clearly to the question.
There is more emphasis on causes than effects in this answer and there is no attempt to discuss. It achieved top of level 1, 3 marks as it was adrift from the question set.





Sticky Note
The final sentence doesn't gain any further credit.  This answer was given level 2, 5 out of 10 marks.  It lacked specific detail of Haiti's described debt and described in outline rather than discussed the effects of the debt on Haiti.

Sticky Note
Better precision and detail of Haiti here.  A pity there is not more detail and discussion.

Sticky Note
Rather general comments that do not even mention Haiti.  The candidate could be writing about anywhere.

Sticky Note
Relevant comments, but is not well related to Haiti, which is typical of a mid level 2 answer.

Sticky Note
Appropriate choice of country.  The opening paragraph sets the scene and shows some detailed knowledge of Haiti's debt.







Sticky Note
This sentence is not at all clear.

Sticky Note
This is much more explicitly linked to effects of international debt.

Sticky Note
Some detail attempted here but could be used to better effect.  HIPC and debt cancellation needed to be established clearly as effects of Haiti's international debt.

Sticky Note
Fair point but not quite clear that it is an effect of international debt.

Sticky Note
Appropriate choice of country and the opening sentence addresses the question.



Sticky Note
This answer is describing rather than discussing the effects of international debt on Haiti.  It was given top of level 2, 7 out of 10 marks. QWC was mostly clear and coherent but the argument, or discussion, wasn't direct or logically developed.

Sticky Note
Accurate country detail but could be more clearly linked to the question.
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Q.2 (a) Suggest how environment, future and needs from Figure 2 relate to 
sustainable development. 


[5] 
KI 3.1 


Accept any aspect of sustainable development (SD).  Answers may well refer 
to or piece together the Brundtland definition of SD or may refer to the three 
legged stool (social, environmental, economic) or the quadrant 
(environmentally friendly, futurity, fair and equal, improving quality of life).  
Answers do not have to cover all aspects of SD.   


Credit examples; also credit range and depth. 


For example: For one word in detail – Environment – SD aims to protect the 
environment (outline point so far) by using renewable energy, such as wind or 
solar power (developed point) as these do not give out greenhouse gases or 
other pollution and will not run out (very detailed) – worth 4 marks. 


Level 3 
5 marks 


All three words mentioned with clear and explicit link to 
SD. 


Level 2 
3-4 marks 


One word in detail or two or three in outline.  Some link 
to SD.   


Level 1 
1-2 marks 


Vague and general comment.  May be no link to SD or 
very confused or inaccurate.   


0 marks No acceptable answer. 
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(c) Explain how the use of natural resources may have social and economic 
costs. 


[10] 
KI 3.2 


This question is very open and asks for explanation.  The answer could focus 
on countries or resource/s. Answers will depend on examples chosen e.g. 
flower/vegetable growing in Kenya, with the flowers/vegetables being sold to 
the UK, mineral exploitation in the Amazon meaning loss of land impacting on 
livelihoods, oil in Nigeria having health issues for people. 


Answers can focus on one resource in detail or more than one (credit range 
as well as depth).  Good answers should have specific detail used to address 
the question. 


Refer to QWC Levels on page 1 when finally awarding the Levels. 


Level 3 
8-10 marks 


Explicit explanation of both economic and social costs 
of natural resource use.  Accurate detail.  Range of 
examples or one or two in depth. 


Level 2 
4-7 marks 


May lack balance – either more social or economic. 
Description in some detail.  Limited or implied 
explanation. 


Level 1 
1-3 marks 


No social or economic costs identified.  May describe 
natural resource use. Very general. 


0 marks No acceptable answer. 
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3. (a) Use Figure 3 to describe the differences in GDP per capita of the world’s 
  poorest countries. 


[5] 
 


KI 1.1 
 


Answers should use the data and could make comparisons to the world 
average.  The poorest country is Democratic Republic of Congo (DRC).  DRC 
has a far lower GDP per capita per year than Togo, which is the top of the 10.  
The difference is US$551.  Togo has a GDP that is US$11 501 lower that the 
world average and DRC’s GDP is US$12 052 lower. 
 
Overall there is a wide gap between the 10 poorest countries, three of which 
have below US$500/year, four are between US$600-800 and three have 
US$800-900.  All are below $1000. 


 


Level 3 
5  marks 


Full, detailed answer. More than one difference 
described with accurate use of data.  Has overview. 
 


Level 2 
3-4 marks 


More than one difference in outline or one in detail of 
data 
 


Level 1 
1-2 marks 


One or two general observations with no data or 
inaccurate use of data. List or lift of data from the 
graph. 
 


0 marks No acceptable answer. 


 
 
 


 (b) (i) Describe two social problems faced by the world’s poorest 
countries. 


[4] 
 
KI 1.1 


 
Will depend on problems, so there will be a wide range of answers.   
 
Point mark. Award 1 mark for problem, 1 mark for development or 
example. 
 
For example:  A very poor country will have little money for education  
(1 mark– problem) so that the literacy rate is very low (1 mark – 
development) 
Thus it may be 2+2 or 3+1 marks.   
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  (ii) Outline two strategies to reduce poverty. 
[6] 


 
KI 2.1 


 
Point mark.  Award one mark for strategy, one mark for development 
or example. Answers must make link to poverty reduction. 


 
For example: The introduction of free school meals in India (1 mark –
strategy) means that children are encouraged to go to school to get an 
education that will help them get a job (1 mark – development) and 
improve their standard of living (1 mark – development).  The children 
will be getting more nourishment and the families will be able to feed 
themselves as the children are getting food at school (1 mark – 
development). 
 
So marks awarded may be 3+3 or 4+2. 


 
 


 (c) Discuss the effects of international debt on one named country. 
[10] 


 
KI 3.1 
 
Depends on the country chosen, but answers may include effects on services 
such as health and education as countries can’t afford to pay for these with 
resultant impacts on literacy, health, diseases and death rates; introduction of 
fees for health care and education; increased taxes; reduction in wages and 
unemployment; increased poverty; trade maybe affected by the requirements 
of PRSPs; SAPS; HIPC initiative.  May not all be negative effects.  Natural 
disasters are not relevant. 
 
Credit range and depth. 


 
 


  Refer to QWC Levels on page 1 when finally awarding the Levels. 
 


Level 3 
8-10 marks 


Named country with convincing, specific detail of 
effects of debt.  Balance to discussion at top end. 
Either some depth or range to answer. 


Level 2 
4-7 marks 


Names a country but answer may not be well related 
to that country.  Some detail of effects of debt.  
Description rather than discussion. 


Level 1 
1-3 marks 


No named country.  Very general and vague 
comments about debt.  Description. 


0 marks No acceptable answer. 
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